EARAROBEEIERT — 2 N— IBISH —F

2013512880 (B) 5EIBR#H4H

mﬁﬁ%Zﬁ E UsTE] E# ‘ (xfg] £ ‘ [REmshE]l — | & (&) 12000 B
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S — — =Rk 13, - . . 3511 1#48 (ER)
1 NH=SF+45F3 4 2 5:—‘:150 1(1_3)6 1-1 37.1| 82.1 6 (456) /J\WE;T
R:F—TRNTPN—K B:FXUSTNG = R
S e pteclid : = BIRE (EX)
2 XxATRLF 2 50 1.(151).1 3-2 37.4| 77.5 1 (4E4) ey
R:yOzzx BALTS—J HET7— L
> B2 | ELDHE(E 141 7-7 36.9|77.8 | 3 462 | SR (RR)
3 h—k A EHZ 54.0 ) O | EmnE @
AR w4 =T Bibh—kuLE> me =A
= #% 2 | FIBEX 1:14.1 2-2 375|775 | 7 470 | BERBIME (RR)
4 eEr7oL 54.0 7€) (=) &) 155
LY IRGT4 TS5 B:bh—T3R>F g e ]
—= = o2 | BEEES 1:14.2 3-4 37.5| 765 | 5 432 | LA (BER)
5 77>7—H 55.0 (7E) (=) |B<LCLUB
L:772)I7 B:U-YLZ2-I7 2K BA
S # 2 | ERH 1:14.6 5-5 37.7| 729 | 2 508 | AXEFIIR (RR)
6177 h/ /1'7'#2’( 55.0 2 1/2) (—) |18AH
R:ZABF2—FTUNT 4 B:IZK-3F =R %5
v . o2 | X 1:14.8 8-8 37.0| 71.4 | 9 448 | KIS (RR)
78|10 F>T 1> 55.0 A 1/4) (—) |FEES
RIAIF19R B:¥xL T X8— AN/ TN
=\ o o2 | BBER 1:15.4 9-9 37.1] 659 | 8 470 | ®IsEZ (R®R)
818|9 7/3'717]'\‘/7 55.0 (3 1/2) ) AR EEEA
R:xAM4vagayy B:Iq47)enq BT r—L4
B N . t 2 | BHF 1:16.0 5-5 39.1| 61.7 | 4 464 | BREPAEA (FEX)
9|5|5| ¥ ENATF ¥ 54.0 3 172) oy | ) ms
L:TUYARIL K B:RE2—4—-5 Elizie]
S, h S 4 2 | EAEA 1:17.4 9-9 39.1| 49.6 | 10 436 | BREFIZ (EXR)
10/ 7| 8 YTty 55.0J (9) =) HhE
R:TF—TFAFAF—ZY> B2y TARSY— AU
@ 21 L
£y 49.1-37 .1
NA>24 L | 12.9-11.6-12.0-11.9-12.4-12.8
@ I—F—@EBIERL
13—7-
23—7F—
31—7F— (4,3) (2,6) (5,7)1-10(8,9)
AISI=F = 4(3,2)6(5,7)1-10-(8,9)
[ RN
B Op 4 3,330 794K 2-4 910M & 2-4 3,050 &R 1-2-4 3,150
7 B 4 450/ 1-4 1,1508 | | B &= 2-4 2,550/ | | 3EE 4-2-1 38,680
2 130H4 1-2 230M B H 4-2 8,860M
1 1609

ABICOVWTRDTEEERROODE. TR LIV,




